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Hunter employs 15 staff in their head office in Edinburgh.  At times they may need more staff to cover for absent staff or for big contracts.


Question 1
Write True or False beside each of the following statements.
	Working practices means that employees are practising their jobs
	

	Traditional working means working from 9 to 5 Monday to Friday
	

	Full time working means working all day every day
	

	Organisations want employees on duty all day every day
	

	Having a flexible workforce means different employees are on duty at different times of the day to suit customer needs
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Question 2

Describe the following:
	Full-time working
	

	Part-time working
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Question 3
Hunter employees receive a contract of employment shortly after beginning to work.  

What is a contract of employment?
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List the contents of a contract of employment:

	· 

	· 

	· 

	· 

	· 

	· 

	· 
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Question 4

Explain what is meant by the term “period of notice”.
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HOMEWORK 2
	Tunnocks business is located in Uddingston outside Glasgow.  
In the 1950s Tunnocks developed four original products: Caramel Wafers, Snowballs, Caramel Logs and Teacakes. 
Staff employed have a variety of types of contract and operate a number of flexible working patterns. 
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Question 1

Match the following types of contract with the correct definition.
3
	Permanent
	
	Fixed Term

	
	Temporary
	


	Employment is for a short period
	

	Employment is for a set period of 6 months
	

	Employment is ongoing until either the employee resigns or the company closes
	


Question 2

Tunnocks employs staff on temporary contracts, why would they do this?
2

	


Question 3

Read the following statements and recommend a flexible working practice for each of the following Tunnocks employees which would suit their personal lifestyle.
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	Elaine has started a new business recycling computers and would like to be able to work just 2 or 3 days a week
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	James lives in Dundee, he would like not to have to travel through to Uddingston every day.
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	Pamela has 3 children and struggles to find child care for them during school holidays.
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	Craig has a health problem which means that sometimes he cannot always get to work early or sometimes needs to go home.  He often has appointments with his doctor.  Most days he is fine though.
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	Pashley Cycles is England's longest established bicycle manufacturer. 

Founded in 1926 and based in Stratford-upon-Avon, they have a  dedicated team who design and hand-build a unique range of specialist bicycles and tricycles.  They are considering introducing flexible working practices.
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Question 1
From the following list identify which is a benefit for an employer or an employee.

	Benefit
	Employer or Employee?

	Staff absences should be lower if staff can take time off for appointments and are also less stressed
	

	Better work life balance, they can do other things except work 
	

	Less time and money spent travelling, or they can travel at quieter times
	

	Less office space is needed, if employees work away from the office then the offices can be smaller, saving the business money
	

	Having a wide range of staff means that there is a wider range of skills in the organisation
	

	Employees should feel more valued and have greater job satisfaction
	

	Staff are more likely to stay in their job because they feel valued, this saves a lot of time and money recruiting new staff
	



(7)
[image: image8.jpg]



Soc 4-20c
1
Level 4 Business

